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T

fdor -

Instructions:

1. WW TN @Uel: |i|
39 Y9 § ¥R @UE

The question paper has four sections.

2. Ueh @USH AR ITIMT ThIEH TN SHH TRaat|
Ydsh WUE o IW Ueh & S8 W oy § forad g
The answers to each section must be written at one place.

3. foEved I gereh USRI SRR @l
Teeh @UE o IR Yk & S STRyfreht W & ferad €

The answers have to be written in a separate answer sheet.

4. YIAYS 3T 9 @Al

T R IW A foad|
Don’t write answers in the question paper.

5 TR YIAUAIERY STERIHd i@l
YIS oh ATER YA 3a¥d & fora gl

Please write the question no. according to the question paper.

6. HONl YIAME ST HEhad @
Qe gl oh IW G&Ra H faf@u)

Answer all the questions in Sanskrit.



@ug : <h Section A 15 sz

AUTSATIT-TTSNETH  ( STUTSATIT-TTSTE )

Unseen Reading Comprehension

T, UER
1. | srenfafEa-TTeegd Ufedl UEauy JUe&-Yaaram STURaenrard ST -
Frfafad 31 ST=ssl &l 9@ XU T U9 oh STR gefeh & T8 SaRygidenl H
fafed -
Read the following two passages and answer the questions in the given answer
sheet.
(37) wom: I wa:

T A I eSS A1 9 7 haa ag yavred Afug foves gfiag: &a:) s
ferferay ‘Tidresitar:' sfa wfaaaeyre: afaufas:| o/ wfaaueyr= W g HieRy:
HYHETG AR WEe| F&Teh IEeriiae SH-T0-14....." 3o0e ElfqﬁT
U = Tl wRensy fovawrdiAmeh fovafornmesy a1fu sTemaq) Tdargemon

HRTYEHT0N SR ARAYH: oqd: &= |
oA
TehUET SUYd o2

T % ° IW e
Answer in one word only.

(i) FfoRATS: F Y *Hia:?
(i) ‘Tarsstter: o forfean?
quiaTeRH 3T 1x2

ol R H S| i
Answer in complete sentence.

(i) o1 a&E: U TE?

(ii) o= fraef AdaqiEnr qraer?

frdomrary A Yox4
e & AR S fad

Do as directed

~

(i) ‘wraar’ sfa forardee shqueq stgeser focn fored




T, PR 3T
(ii) ‘wfaawegr: afdufag:’ o™ favmog foe?

(i) 319feg: ' 30 vew fawdidareiss v’y =8’ fawn fa@a
(iv) ‘ Tfyaer’ sl sTg=es T 98 TgeH?

(am) Tt ergesa: 10
THAMY AT TGS AAAIRH Td IRehedd | e MSieaary aee!: A
SR  AfAYEq F§A HRA, I T THAMH TIeA TR, SR a1 AREITA
sgafa, ‘eAfaforar wa' 3 RO 9R=Iep dedi<dl A0 SRR id
Tocftar: wat=<1, Fomg = | du1 SRR AEma g foshia 9: T sodaq
A HATE o TeheR S S e |ia qurg i e 9 7 W o =i
o sTaaRoreEd q favivd: wared sl geeEf I R geen: 1fa wafw)
TN THY AT A1 Heel QEaal el SRHf: g WRlE 2q Feed
TEIeATd: SR |
9o

| THUET 3T Yoxd |2
Th T H IW fafag
Answer in one word only.
(i) =tor: & gfa faerftear: waf<?
(ii) =MeTRT: AAT: AR FY HRA<?
(i) T SrIERit?
(iv) AT STERUTTTY UET: i Yeeiaf-a?
I | YulaeRE WA 2x2 |4
qui o | S fafad
Answer in a complete sentence.
(i) SHIHY =eiehl: fh T=rep aRueE-<?
(i) =Tt A9 TR S ?
m | fegeRy Swa Vox4 |2
fder & SER S

Do as directed

~

(i) ‘weeERy’ 3fd uge guHefe 9gq srgeser T foedl




T4 g
(ii) ‘forcttaan: waf<' o1 waf< sfa foramess wgued sT=seq faen faed
(iii)  wererelt witoaT ot fereioorag fR?
(iv) ' TREoEE’ 3fd ugw faudianieh 1gq ef=an fuwn fawa
IV | ST T=%® &d gyqfad viveh forad|

39 IT=3% 1 Yfaa vihe fafau)

Write a suitable title for this passage.




gus: 9

Section B 20 IITFT:

TOATHS R
TEMTHeR R
Writing Skill

R

LLs]

REICEL:Y

TET YUTE: | W a6 Ugaiai: 9 Fieaaerg et fatad o

LES LI ES L C I ok 15x10
Y Yo B ST9H I o= 1 ug-ufer o @i Y SFeer ?q Al i gy fafad
T i Hool H U U WS o Hiemw 9§ Ui HI

You are Pranav. Fill in the blanks with the help of given words for this letter, written to
your friend Vasant requesting him not to indulge in cruelty towards birds and animals.

10/28 STEGTTRY
Y
155> P
o2 T2 () S
TEIEH T
o feftad o= S T s TA i) v F1STH_ Sdrel TH=: I
STHehehISl-TARE ICTHARIHTT (iV).....covcvvcveeees | A Bifeeh o witehlq
TR HHe T Toh R STl A et e sReh s (V). Strafy
H: g 9 oA & foara e =akd: uyufeta: & Sow: wd:? T g Heed
121 P (V) IO | T T, fUehe T, YR (Vi)
FHUAMAMH IS, TN FARIRON Taes & 7: 7 3M=Afd| Al T @ Errﬁw%r
R T aY HREA & T G (Vi) gt afasaf-ql o1d: o= oy
g sT=ren 7 rem si1fg it fomd femafodery) TR wew: aemiray iy
G T fsm
(X)eeeereeireeee e

TR, AT, TUHTY, TSR :, FFIT90E, JUrE:, e, SN, a6,
ST |




K

FHATAGTH,
VSIS TR Tele™l oTgehel UXfaeT STRIUT STRyfdeRat formaar 14x10

ool H U T gl K1 FWerdl 9 A= & T AR Al R SRR H heed
W fad

Fill in the blanks in the following story and write the answers only in the answer sheet
with the help of given words.

THET ATHRITETN STa1 a9q Teaauifor Jraq o 9 dfgsafal Tasged
0 Y foraferar: STt oo fa BT ST ST S TR (i), -
WEIT: Fo: Foh: T eI U] Ueh: ek TaS e idfed ehfterrd shiifa |
B (11) TV FHa< ol HEHE foREd IusA SreRuEd-gE! TR @
7). T gan a1 aut @ A7 I AT (V). <q a1 frmef gen
gH HAMH| FHaaH: Foh: sE_q - q@l ARE, 7 SehREmvadiied:; w& g 94
TaRel TR I = awion (Vi)..ooovoeeceenene. e | T = A Ry dfe sTadaa
foregfae@m=a (Vii)...oovevererneee, q PRI TaEHY: ety a1 HyEEEmE: 1y
(VL1T) P 7 iveg A9: wioeafd Hehd| HuR T Al ZAT (iX)..vvoeeeeeeenenn.

stfa=aq I < Ueuany IuUl faEgaT . ? 3fa fo=amd @1 deeroe Serq

ST 3T : FAHT I Aq AR TIRHIT (X).voevorercenens w@fafa: |
HosTHT

h1el:, Tamaforcan, HemTel, S, T, Jui:, U1, SRRE, S, Toaauiiv|

31 TN oo ST Aol TEeIsR Rl Joderer STyl fo@d  2x5
T f@ T o W eniRa Ui 9o YR YRt SeEdl ¥ Swhd 9§ fafay)

Describe the following picture in five sanskrit sentences with the help of words given
in the box:

10




T, PR 3T
HoSTHT
oS, TAIvS:, hIVSHH, SI:, Toohar:, SR, ShaR:, Hed Josi<1, SHaFR:,
TRy, MMeh-SAIURT 9|
31era
A AR
en et & forg
For blind candidates only
‘TR -SureE Tt sfa T stfureher Weenda ewEreR fored | werEard
LES SIS 2x5 |10

‘TR - TIURE Ui’ 39 fove W EeRd o i e fafau) wee o fow gesm
& T B

Write five sentences in Sanskrit on * ¥R —3TqUre Erfff:r{’ you can take help from the
words given in the box.

HISTHT

(AN

fafaen: wmet: - 9elvg:, 3wy, wRdeed, fufve:, gdfd, wdfasy, I=h:
oSl SCATRA: ohdR, folehdR:, SHMM THIS:, shiclieetd, Sed: Mg, dfge

qH:, A TSl




@us : ‘M Section C 30 g

ST A AThTITH
STTUY kA AThITT
Applied Grammar
T, UER
5. | ereifefEay areRiy wgeeRuET il AtufaSe Fer I gularr fma 1x3
I o o § TR W& ° afu/atufasst sk e g fad
Join/Disjoin sandhi's in the bold words and rewrite the sentence.
() o + A wE: e fa=rt=)
(ii) STgecer T A qq + freEn sfsed: 7 hd:|
(iii)) 79 AR AR S St |
6. | oTeNfeREay TRy TeTERU fouE / EE a1 e STgRden foraa 1x4
T fo@ oo o TenauRl | foum/ame ek SWyfaw | fad
Join/Disjoin compounds in bold typed words in the following sentences and rewrite
them
(i) Femafe wrf
(ii) YURR: d=h: AT FHed|
(i) 9: gwHr_3TEAl 9URR & S|
(iv) Taf==: == w31 g
7. | orENfeIREqy ARy IR S Yehiaued fore=sl/asien Ua: for@dl 1x5

T fog ™ T § RIS o Rid Y&l 1 Fehfauer fawrer/aE w1 fafew)

Rewrite the following words by adding/disjoining suffixes to the roots/words given in
the bracket.

(i) 9: e (SAemm:) g6 vafdl

(ii) SFYRT TR (Sfaera+ash) T |f<
(iif) 79 (FgToeel) S

(iv) TE: (FA+ET) W A TR

(V) (e fe T v




K

LESl

reNfafaay a1y Sfea-sremaus: faatem ity wiyer o forea vxi0
(SFHIMAT el 318 &)

Frefafaa ol 5 3fea s 1 § Reea™ &1 qfd ohteh g fafaw

(st o g A @ D)

Rewrite the following sentences after filling in the blanks with suitable indeclinables.

(List of words is given below)

(i) H: T THBT @ KT (1) |
(ii) T T THATHBRT (2)errvveerrrrennnns Teh Y9 g=sfdl
(D RRIRSEE Tk B J. EIERRER

(V) T2 ST T (5)errrmrremrrrennnns S faeted =)

(Vi) AFT STTHT (6).vverrrerrrenrnnnn. feqa

(vii) A TIDR: TFTD (7)verrrveonrrrennnn. IR HEIANT: |
(Viii) (8)veervrrenreerianns RICIEE: H HEThid: ST

qe, -, W, dEd, 9, <99, U9, 0, ¥4, o
Jrgifafad Hae ar=ER e gaa 1x3

steifafad Fag # areagaR faaeem gfd &ifse

Fillin the blanks in the following dialogue and write the answers in the answersheet only:

i e 1135 3 () P At
i S 152 IS [ T F (1) TR ?
wf: - Ol S U A

i - qd: d1; T witAf<?

i = A@A: (i) e TS T=1d |

10




T, UER
10.| facoia: yitear vt ToEUE el T WG 3id T GuEETiott
AqfeaaTeq aEd 1x4
feoell W TEUM S arel el TS e, el Tgudl ©, THAEion o TEr ford
Indicate the time as shown in the following schedule in sanskrit words in the
answersheet.
(i) VTRl THYE UM: (6.15) 9RA fSeeld: e TR g TSl
(i) 9r: (7.30) SR ATl
(i) 9ra: (10.00) TaTferR 3fd T wafd
(iv) (11.45) T_A TR JIeAId|
11.| ereifefEart amer (TgHl WH ) Hepaaeiaomir: Wik g foaga 14x4
Sfafead ameRl &l ST o WM N Aepaeerarad foaemel g’ Q0 &er I
fafaT
Write numerical Sanskrit adjectives in place of figures in the following sentences.
Td: el FHOTE 378 Slfcehl TeSIH| O (49) TUgel: W<l STwaAgemon (76)
gem: qen = (11) Fregen: 9= = favme: (1) fuorer: sl
12.| @A Ta: A ey e SIYEd: THEH| ATdl GYNYH el SR

T: foaa - 1x4
3 =l o amfem ® $9 Wil B T 71 3% weifud weh 9 g fafaw

Correct the following sentences and re-write them in the answer sheet.

3T q: oo ThRY-5RY waEl: 9ed fohehedfaAifiial SAveaq) foh @ gwI?

U W, T TR AT A WfaEiiny STIval
3TTUT: T &ORETU 3ok =dl: STE|

EUI:  3THUI| UHIGY] H&Ml: Shigehl: SAEYM: A |

11




@usg : ¥ (Section D) 35 g

gfea sraarem (ufsa st@ene )
Reading Comprehension
TH. sl 3k
13.| ofNifeiiEd TENl, TSNS, EAY o UlSel YEAUTHEE ST SRt
Tor@a
Frefafea e, gene qen A S TEHRl fKd T R oh ST SWyRkRl H
fafen

Read the following prose, poetry and drama passages and answer the given ques-
tions in the answer sheet.

(31)| T gAY ST A TRIEA: U YES AR - ol fRfiey s=a? A 9
AT foerm sfea  aR-fadd-hua-she-Sahen  wafasd: 1’ Taesen
LTIl AU TR SHRA - TWARAIRR: T 3T G@ FAROMH 7 S|
3 g o TesrHEl’

3191 STIREA 8T8l 9 #el Araq FeMy gfomia dreq YueRul sTdsafaderted difed: |
FUMYE: A AfE SSaeadHIRR: ey swaenen wfawifa SeeeTar = s
qefal o fardl efed: quiy afesdren: agfera:|

PG>

gt

| TehUS S| 15x2 |1
T&h 3% § W S
Answer in one word.

| HUHROT HY: oh dlfed:?
I. SF: IS ST IREST oF T+ 7 gosi<d W72

I | YuiaeRs STRal 1x2 |2

ol o | S| il
Answer in a complete sentence.

|l ST IS Hel qre=i?
I qory afgearen: & Ffcer:?

N | FenfEyE SWal Vox4 |2
FTfRY IW <

Answer as directed.

12



T, UER

(i) afeT SeoeadM: RN s foRmog foee?
(i) ‘s’ sfa Tew fF wafaed T w2
(iii)  wforerfa’ sfa foramaeea s Tenenq faen foedl

(iv) ' &eA e’ s Te fawdiaredey sTg=seq fomn fomedl

(3m)| U=rIT:

X n
0||°|"‘|§'¢|¢T°H"j\ HAT HHIATHRhIAL:]

G HAIY YR W IR
oA

| Tehues STl 1ox2
T 9] H W A

Answer in one word.

(i) H= G9R1 RIS B2

(ii) e 7=t o T URepEa?

I quiareRd 3Tl 2x1
o H IW I

Answer in a complete sentence.

FIGE: AT W T IReEd?

N | FenfEyE SWal Yoxd)
AR S <

Answer as directed.

(i) ‘foeepa: wafa’ s vaes f6 18 TP’
(i) T 3fa wee famdaider fhy?

(iii) * SRfa, T’ ST wea: fawreds fag?

(iv) TAIhTq Teh 3Teadg T fored|

(3)| ez
EREEIBEAN femfsgergs: guifya Taiea 9ft: saq) o1: ewomEa: afam

13
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LESl

TRV USHRIRIYehT: T Yol faqen = o a Rl o g
3F Hd: Tl gon 9gfg: gute: 9 uee:| "ed edfad
S[SIATRUA T 3T YSI ohael Yopid: Ua A fafasn 79w =

T wERfd: S
d L C: R
T T TRI [SAUM 12
eREsiear S T8 Youre TSIHH] |
ERIb| TERT| SIS 1T @I STSAfehT — T ?
IR it freushenl S =g TN FHEN SAShfeeREmE|
4 AR 3T YR¥red GH@l: Icdal: oh?

EREEIECA L] Y g 3T 3ok JHEd: | aredl’ SN gg@ 19 ¢ S’
st 1) T g el sfa A | STRE TR RS
[T = rrtsieh e Tl

Q9T

Tehue SUd| 1ox2

T § WK ° IW fad
Answer in one word only.

(i) ‘s’ gfa ud e A= ?
(ii) Rf%: RrcTewen T g <a W Y@ TS ?

quiareRe 3Tl 1x2
qui o’ H IW fod

Answer the following in complete sentence.

(i) ‘e’ SASAE ggEaEt e fe vafa?

(ii) ST o TeuT=a fh fF A Re?

FrymTary 3w Yox4
e & AER S fod

Do as directed.

() ‘EieEyfE: = o ‘s 3 o e g

(ii) ‘ STy’ 3fd 9ae faadiandes 98 HarRr feown faaal

14
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LESl

14,

15.

(iii)  forgen amEwaRT’ ot ueAl: favreg fee?

(iv) ‘vesf<1’ sfd foramee #gag Wamn faen foaedl

reNfeafaquega wraredy Sugekue: Wi qv: forad 3+3
frefafaa <1 =i o el & SUged SS9 R O fafan

Complete the explanations of the following two stanzas and re-write them in the
answer sheet:

T IR WIOETO:? FeArgaeen fofae|
F TIAEH? < 9 TRERAEd ||

s FATIAH (i), e T wforH: %1 ud geiegE s el er: gd:
e foroaa oTeer: ®ed:| qdd eiH-ondl e T (i), ol
I REE et s I (17) FR TAITAT IIHM: ol 7 9

e foemes =g e 9oed qu:|
e TEH @ A AEE g@y|

araref:

SR 9ER foen Ta T 79 39 HeAd| WA UleH ShigAauy| 3d: ST 9HH
O Y. 7 | AR ST : TH (). FHROF R AN
AT TH (i), HOR 7 31|

refefgaueagae sradl Qiger o fema 1%+1%

frefafaa <1 7=l o Al wl U ek I fafaw
Complete and re-write the prose order renderings of the following two stanzas:

PUECECIRGD R C L ER ISR L
TeT: wfuta faut! gemag. st q

fasm == (i), EiCR R BT G R | S 1= U (1) I SRR UREE
(1) YT T I S|

3191 oh TeRIIST 9 =i ge:
Ao arig| Fenfed fafed:1

15
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16.

17.

18.

3

! 3T T (D)., <20 e 2 F (1) OO 311 A (1T) DO IERIEGE

ECH IR MC

T@TfgaueT M3 yyAfmiv ed 1x4

Wrfgd 9 o SR W YA SHifsre

Frame questions based on the underlined words

(i) Fid: wroh: SR TR

(i) Th: g2: ATTT=A HUfl

(iili) TRAZEEE A A TEGIH|

(v) ST | O w

TEATGRATTARY TeNfAfaqareT q: sFHuT o 15%8

HEAhH o STUR fAfafaa s &1 gH: o 9 fartau

Re-write the following sentences in the sequential order.

() TN AR el SRdlG: 0 T T8 At dieraaTy el

(i) TEEATE: TR IURR: W: HRd [G8E HEfaq HURS &3 HURE IR
el e e : Foeld:|

(i) foarTRETE: T SRdigT 9e SREH Hord: §:|

(v)  faarq R TEATTHIER Jes—19ras e didqar |f-4d: qued e
gegfg ToAM|

V) e SHifEe]: TS T8 YenTaa SedGye hih! Td =i
gieerd:|

(vi) T T ol SRIfG: Al TE e gavithars] JaaH |

(Vi)  ThS TdrTaEnid weef el df Tk seteh T

(viiy gavieherel T4 e i ARFIgH 398 SR df6: Tl Teo—1vrad e faredar

THSITER {@ishaue™i JgH 1eq fomn foaa 1x3

YET o STER W@ifhd 91 & Yo 1Y g fafan

Write the meanings of the underlined words suitable to the context.

3Tl Tafgditan

16
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(i) =T, (ii) O, (i) T,

e T sfufatal

(i) erfererron feafa (i) stfuere ferafa (jii) foreamaify
Hehed gl fafeqar: a9

(i) T=r=tRar: (i) fowror fagamm: (ji) faemfar:

17




IR AUTTIA_ |

AHATST
fawa : wepan (FEOTETRaY )
T I RIS 122
safy : BRI,
@UE : &% - IUfed STEEreqy
I WU rT=agad A (5+10)

& | - U9W : TS 50 yeEuRfua: (5)

TG : 3TTIq - sTaferd-3Tafon AgHgd:  SARIavmT:
T, PR 3T
| | demeiy- SfeTeaR: () FTEIRIHA 1/2
e THTA ITH (i) i 1/2
|
I | deet- T () HeTgEsTT
TRy PUEIEYE] S ARAYfa:
WA TEA: ¥ Ta |
(i) ‘Tirdresiier:’ gfd
HfEIEE P
hioREs: ATeicl-
R Yol |
(o1 3Tg: Yoaad
THeoTT o7 TE:
ERIECRRIET)) 2
| wiferde- () wueeEd () ShfeR: 172
Rtz (i) foRmoEET (i) AfaufaeH 12
(iii) foodaeierus- (i) ufHs: 12
RERRE

18



XN o9 3k
(iv) LEIEIDEEES (iv) STEAIaq 12
RERRE 2
FH1(3M) foda: TT=8]: 80-100 VRURfHa: 10
ShHTS: : SERREN JeI-UhR: mufara-swfr g dsd: S CACED|
| | demay- FAfdereTr: (i) EerehTEIEH 1/2
TRy THIRA ITH (i) eIfaferEq 12
SREI
Al
(ili) e 172
(iv) T, 12
2
I | deFety- forgara. () TEIAY AR
Titerure PUEIEYE] ‘gafaf: <& wa' sfa
AR AR =Tk 2
et
(i) TEIE S
TR A
q STH: HRIRA
T ARl TA
i 2
(TnElen-3Tg: qegudierT
ad: oTg: & YgedEd) 4
| wifer-a@- () wEALRTEEETH (i) AR 12
e (i) HJIETIAY (i) 3t 172
(iii)  TorTooTIR=— (i) TATEdy 12
(v) foaedme=a™  (v) ST 12
2

19




(i) I ST
T SRy
YAl 3T
fepmta wgfed
NIEET:N

T4 sl 3k
IV | ety sfdereeR: () AT THIMIA,
AT (i) SEATARM
Ade:

10

20




AT | AEITHERHAYITIA |
@|Ug : ‘@' - TeATHhAET] 5+5+10=20

ST @ve 3 T |ial ged e fafed oo wesuma: fown fafv=Redsemm gfid fen o 10
STYRaRT eieram| YfagsReadeergfded axl: a1g: fuifa:)

HG EEepE YI-YhR: arafara-srfor ASESA: fpfaemT:
UE. o 3th
2. | weerER () T (i) TSTEAHYREI: 1/2
o=t A T
CAREA LY faerd
i) IJufawr (i) TEd 172
forerd T
BiL|
(x) <EHH (iii) A=Y 1/2
T
x) ~ERH (iv) wUrE: 12
BiL| 2
EEICR] (iii-vii) T=¥igEd (i) e 12
[EEREREIRE ToTorreregqRe (iv) e 1/2
Tterur (v) Oaters: 1/2
(vi) ST 12
(vii) FESTEUTR 1/2
(viii) ST 172
3
5
3. TEAR A JHgIIR Reaeamufd: swfadn ufad yeReaeeged 1d: of@:
Fiftd:| STeagdr: Hesud: w9 TEide:
FUF FHGHEAR  JHgTEdETq (i) U 172
egfuiarTe (i) Terafrcen 12
(i) WM 172

21



T, LES] 3T
(iv) STeRTerETf 12
(v) s 12
(vi) T 1/2
(vii) Sfa= 172
(viii) asfa: 12
(ix) HerHTer 12
x T 1/2

T Y9 Feeauarag | AR ue e ean gosel TeaRIsSgaerad qoaarey

Uiy sTafera| gfaareRm sTgsd Fuiiay

sTEagees  faseotaret BET: SIS0
ElCZEICE I ICPRRISE L B ST CHE |
ERILRNE e SR

R | GlcererT

Th: o1g: YsaLmdy,

Th: o TGN 10
TEAHohAN SATHE * 2Meh -SR03 T Sifishe qeaamesn er@-ar|
e Stggd i) wh: ofg: Ysaoidd Th: o YSHIuIyarT
STEAYeeh eI BT TRAR:
ElERICEIE QTR - SATAUTE
TEH 3o &fa fomam

AR eI

et

(fareR T

T g Y- qeAdH, Th: o7g: d HEYANT)

5

1+1
1+1
1+1
1+1

1+1

1+1
1+1
1+1
1+1

1+1
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3TMEyt WERd Yy |
Qgug T

( STTIIHTATHIUTH )

AT GUS TR SAEETHRTENT:  TUTeT:

SIS : EEepL TII-Goh: arufara-s<rafor TS A: HAhfaynt:
TH. sl 3k
5 | aeRy afy Sy (i) st 1
q-estal-  Reaeamgfd- (i) dfese=n 1
U EE vl (i) AA+g 1
Lo/ AT :
a1 A
AT
6. SRy, THE- SRy () IR 1
qer forrg: arfga- AR
STEAEIRHET I (i) 99 *Hufa sfa 1
grg 3fa oy (i) TR 1
&Il TR0 Y (iv) fafaseae: 1
7. | Ry FE</ FeRfagerEn (i) far e 1
dfGdIca Tl HAS3/g0eh (i) TferaerT 1
TART-T&I0H ool STeRI- (i) FSrOHA+T 1
FRATER (iv) w=i 1
Rereeyfd: () T+ 1
8. Y ST~ AT : (i) st 12
RESRIUE ElEZEIECEE (i) w 172

24




TE. PR 3T
T Ty 3fea- (i) e 12
SEpEpI| (v) = 12
ELEZEIEELE Vv T 1/2
(vi) = 1/2
(vii) e 1/2
(viii) U 1/2
(ix) &: 1/2
x) va: 1/2
9. | Aty ey (i) S 1
HYAr- 3TufeTdehy (i) 1
AN Fu-foparae: (iii) e |
e Rerteermyfd:
10.| wfest ElEVL| () wUE 7 1
el TR : (i) Enfaeaa 1
TEhA w3 - (i) <z |
JUI-aEA R (iv) TRHgRE 1
T
11.| 9=EaEs-  AgH &M () TRFAYEE 12
TR-JA- SRy dhd- (i) weEwd: 12
werom T2 ferdeem- (iii) TR 1/2
qfd: (iv) Teh: 172
2
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ARG fafady () T
s-fog s Ty (i) s
e wim-  fEfga-wy s|fs (i) sHen
e GRICELT (V)  <EEEE:
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YT Gha eI |

gvs: ‘q
(ufsa-srasrey )
AT WU | U UTSHUEIR WNTHAETERIuTy SITENaT: |
HG EEepL YI-YhR: arafara-sfor TS A: fpfaemT:
T4 oo 3Th
13.|(31) dfodmemer- | SAfdersmR () eTsafea- 172
THIRA ITH EalE|
CIBENE (i) TETEEE- 12
EEILIEE 1
|| quTeTeRA (i) ST GR-
IIH IRESEELIRE
HZ-FRIRAT
T | 1
(i) HUMYER: AY:
g1 STeeeaH -
IR Teheeemy
7Y gfaerd
AT | gl
oot ae fart
Iged: oY 1
Sfgsaretl: HHfcr:| 2
mifeh-aa- Il (i) fagmor- () STIeIHH: 12
TART-TdeTu, - TITH,
(i) TEEE- (i) T 1/2
IE-TITH
(iii) FJIE- (i) H9: 12
AT
(iv) fodaeerde- (v) T 12
EREE 2
5
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T4, AR 3tk
13.|(3) dfoquane- | SAfdersE: () STHER: 172
TGO TR (i) W 12
1
|| gufeTeRH EIESCARE b
I YOI 31T
=it ‘ﬁ: -
TR | 2
2
aif-aa- |1l (i) o - (i) R 12
TG0 STeREIT
(i) foofamefn- (i) W 12
YT
(iii) farsTequs- (iii) T= 12
R
(iv) TTIUE- (iv) A 172
R
2
E
13. |(3)ufea-reae- | SAfaersa: () HEH™ 12
AY-TGH THRTRT SAH (i) SR 12
1
l ot (i) Rfy wfis,
ST g =
TSk T
ol 1
(i) YEUACROA JF STEUTHT
herel Fehid: e
7 fafgen T
< FId HEhfd:
M| 1
2
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T, LES] 3T
e dowdi-(i) JaeaH () s99 s
TR LERIERIUE & STRUTEe
EREN 12
(ORERNEICED (i) SrfSERT 12
RESCRRL
(iii)) Torereaag- (i) IR 12
ERECY
(iv) FguR=a- (iv) T 12
T 2
E
14.| 9EedEy- (i) TRAy 9eney () faea: 1
e Reqeamgfd: (i) == 1
(iii) < 1
3
(i) YR ey () 9 1
Reqeomfd: (i) 3@ 1
(i) gE@q 1
3
_6
15.| T=IE (i) W& ST (i) =M 1/2
AU ¥aleh gfeen (i) TR 1/2
Reqeargfd: (i) waq 1% |12
(i) 9&x ST () I 12
vaeh dfeen (i) siFesY 1% |12
Reqeamafd: (i) 9@q 1/2
E
16.| wAfEio- EEGEREL| (i) IS 1
HIVTC T TETIRIA (i) &= 1
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UH. e
e (iii) oh:
AT (iv) =

17.

18.

31Uig: YSUTTATah—FeAHhd

g : ° YEAATIh e

qehYOIEAhA - - V, IV, 1, VIl

LRIEERIE] FEAM I, VI, 1L, VI
ELIREILE

THFTIERH weT- () o

BEAPEICE ICETR R (i) ToERty

RLitELy (iii) ST

Yox8
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ATy : FREEY

Time allowed : 3 hours

Traifa g : 3 "ue

Gue ‘&' AUl STEEIAR /AU STeEiEA

Section A: Unseen Reading Comprehension

Gue ‘@' ; EAHE - RS Tl
Section B : Writing Skills

Que ‘7' ; SR SHTRLUTH/STIIIHI AR
Section C : Applied Grammar

gug ‘o' gfed-sTaaT/afed- saae

Section D : Reading Comprehension

31

quIigT: 100
Maximum Marks: 100

3rféreraw 3tk 100

15 A l:

20 AFI:

30 STE:

35 A



fadom:
fdwr -

Instructions:

L.

SRR Je T F@R: @uel: af|
TH Y9 § W) @UE 2
The question paper has four sections.

Ydeh @USH 3TYRe I TehfeHq T SHHU i@ |
Ydsh WUE o IW Ueh & S8 W oy § forad g
The answers to each section must be written at one place.

gicaue I goreh YA SRR i@l
Toieh @UE o IR Yk & S SwRyireh W & ferad €

The answers have to be written in a separate answer sheet.

YT ST |7 S|

T W IW A fad@|
Don’t write answers in the question paper.

YITHEA YEATAARA SavaHe ohaia|
YIS oh ATER YA 3E¥d & fora gl

Please write the question no. according to the question paper.

A YIAHM IO EhHad @l
gft ge oF IW HERa | fafay

Answer all the questions in Sanskrit.
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©ug : &h Section A 15 3TgT:

AUTSATIT-TTENETH  ( STUTSATIT-TTSTE )

Unseen Reading Comprehension

T, UER
1. | orefafEa-orTeegd ufsar UEau Joeh-Uarany STy STd -
Ffafad 31 STJessl &l 9@ XU T U9 oh STR gefeh & T8 SaRgidel |
fafa
Read the following two passages and answer the questions in the given answer
sheet.
(F)| o AT=R:

Sfe HiF fasacern: vod gt fafe=doy do@ =mfuse wafd W o
FAFIRI: J PG 7 Hafd TeHa <o, A, fh==qon, Ggafeon =1 gromiied:
Hifqdr o1fed| gaft: wa S ufed: ARl wafd oTd: drvan: HIH: STy
i R FRefw ey aRashs Sieil vafd Tomd hidd Iq wou Shaq |
A q woiecal

go-t:

TehUa 15x2
THh 95 4 S <ifSg
Answer in one word only.

(i) L GIG: IR &0 :?
(ii) forsoraewn: g |ue foe?
quiaTeRe STd 1x2 2

ol R H S| i
Answer in complete sentence.

(i) oFe wroreTfe: ©fiar etfe?

(ii) for Tema wfay?

frdomary A Yox4
e & 3gER S fad

Do as directed

(i) ‘e wdem’ ifed IR o U8 wgwY?

(ii)  IT= AeTIRI: T FAMG 7 wafa’ Afe IR ‘ Jafa’ 3 forarrees wdus frm?
(iiii) STT= THY_ 31e0s Toeen fer@d

(iv) ‘ steitfar’ sfa use faudneiesr 9gq eTg=sarq fawn forem

33




K

(31

fgdra: 31@?{:

wern: femfa erfafafesnfor wafl @en—zen wlerrer: gy emfa qen-qda
TN g=afd: Fefd| wien rEen: S FEus U9 g sifarnrt 7 fsa smfa
9 %d P R, 99ansfy Seepyenel vEdl weifaq e fam

YA Yo shalfeed AT Ui ged qEga: T JdEdl |7 shad
BT TG T STHHTARMMT S9N TAKeH Ta Hafd, T 3 SEN: ST Fai
U YT T afoded v Feifd, ke Saraym: fasf< ud rggesd afen
TIEE: Wik UG 1 TR =1y speifeal o Telen Swama wemef it
Id: Hd: Td B TaHT O, d9d o T Gorl: ol Tey ged Fohell:
efd|

I -

TehUSA STRA Vsx4
& & 9% H I o)
Answer in one word only.

() o: Gd qEgE: TdFd?
(ii) SHSA: HT YRL: TIYL eI ?

(iii) ¥ TR Fafta o I & a2

(iv) Tdemn: fefa sigen waf<?

quiEllaP?ﬁ 31d 2x2
ol R | W fad
Answer in a complete sentence.

(i) 3TE: BE1: U YR @ R R <
(ii) sTf=pTel (Tdemerel) f foe wafa?

Fofdey STRA Yox4
9 & ER S| g

Do as directed

(i) ‘smta’ sfa foramiew wgusn T=san faw@n faad

(i <o AfAsEERT o (Ao SR WS e Y
(iii)  TreT wEwR’ o foRteE foRH?

(iv)'?' 3fa Te= fawianedss 959 sTg=sa fomn foraal
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3T AT Hd Y= ek fored|
39 3TTo% ! Ukl HYfud e forel

Give a suitable title to the paragraph.
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gus: 9

Section B 20 3Tz

TOATHS Y
TEMTHR R
Writing Skill

K

RS

CERCICEL:Y

Ted: M GeH: SEE™ 9 WO q@fdl TS ST TeReie Siferrasrd g
Teafal umgwone fa wfa fafed o Heoman wed: Stodwss: wiaen swyfasE 3 :
for@d| 2T9erT M 99 ® 3R 319 SEae § ®d 21 s 9 & fo s o=a-Te
I TEA @ & AU S =ed €1 oA Sen % fau fuar 1 faw T frefated
T3 i "W ¥ KU U 39 IR % N YU 99 Rl A Iy | fafau)

You are Saksham and stay in a hostel. You want to visit Ajanta Allora in an educational
trip. Fill in the blanks in the following letter written to your father for sending money.

Select appropriate words from the given box.

5
22, (‘I"ll*fl"l SAIAIA
1

22.9.2006

e oy |

gfaTd --—-- 3-———-- I HE SAERT T WO Tl W - -4 - - QI
A9eH| AFA-—-5---37® T& T AMHeAH, Iq: foaaeE wn-——--6--—-Ja:
FHd:| TN 3T CARNEM SIH™ STRifSiar IRl ammeed----7- - -~ ® eI

YOI Sa=: |
I WE HIAH| FH-—-—— 8————- FTYSTE = HIEL YOHT: |
TR -~~~ 9~~~
Bl Ty |
==1ETH, e, =g, < IS
i, wE, 330 =G
Fifcthmam:, IRga&w™, | | oo 10-————
S, SLeson, fagesEm
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LCICICICE L
TRIHTIE U (G AT ShiUTehTAT: GATEM Wiaer g: forea 1x5
oo | & T8 ufedl i WEEal § MEfafad §as | vkl o HeFl Rl TR

Herg, q1: fefed

Complete the dialogues of KANIKA with the help of sentences given in the box and
re-write the same in your answer-sheet.

HUTRT Al : Sfcoeh! ST § UTSHEREI:| Wa: Td Fa: qana? foeuedf T8 fasm
= HAf?

Hfceleh  hfUleh! 318 d UIdShIGIMYHUT MY W= dd: Td AAH

&Rt (i)

FHfdes  q9 IYDIVEEN: TH YUROT q GOl STAall ST Ud WA ™
Td: YUY SaER: W |

&R (i)

s UM YAVE WegagHad 9 YRR T 9 WY qad:| Wid: aa g STde
il

HfoeRt (i)

FHfdes  Id: WAhlelid: a1: STWaAd: Wafd 37d: Urd:ocl STqaen il

HoRT  (iv)

Sfcereh I TH: A9 I Uid: FAUH  SeiqH: SAEM: hied: ?l'F:I'I'cLEIH‘HH:I'UT
FHATOM: SHI: HEMT Fgraee FHaf<l

T UTeRT (v)

Ffoch  YNHAH ¥9: e 9% TH Ud: FHUNE Sfersa: |

(i) TUId: 9HUE A h: A4:?

(i) R Ud: THIH TETEFATIRE hedd 2

(i) = g 99 T Ay I Y6 SRS STRHiy Yd: YW Ty

(v) Tormel graeem yaonef Tesfa? foemeafery g wa: Sfaem: @l s g

HesTAT

38 IU=a31 g wufh|

(v) formeT T STAeen i
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AY: I TOAH MY WoS[UTAl USTI9Tes -HE[aaal USeaTarll ST RehTany
foraa

e 2 ™ fo3 W e e e de@ha 9§ fafag) 2x5

Describe the following picture in five sentences with the help of words given in the
box.

o . o o A o o
SYAA, cllYenl, SEllldeRRH, snls-ich:, ©AH, vl a:llil'_'“, h{U[hH, ¥4I, HI<hT,

LI

10

38
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e TR o T

For blind candidates only

‘qfEre we guor’ sfa fawem sifirer dehde Yeudmentd forad| TemEar Heson <l

‘qfEare we g’ 59 fava d Smd o ure 9 fafe) gerar & fau oo § w2

Write five sentences in Sanskrit on ‘ IRaReT ¥ $HUH you can take help from the words given in the
box.

RS
A a1, A1, AR, 9 TR G- A9, SYeH SIS,

oo

fafeicen @ M, TdTH,  ST<YSH HARGSRH
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@ usg : M Section C 30 3tgT:

AT TAH A -AThITTH
ATUISKd  HThI0T
Applied Grammar

T, U9

5. | oreNfafEaegeneRuay afufawss /afe Far q7: guiare faad 1x3
T foe areri ¥ Tyener sl o afufasssmty stk a1 fafa
Disjoin/Join sandhi's in the bold words and rewrite the sentence.
(i) oiten f& gfte: + @
(i) frE=smn: AfYT<A Hadm|
(iii) AR BEM: O ST

6. | 3R TR TGRS ol / WU o el SURYRAehl faad 1x4
I fore areril o TenaRasl W foue/am wieh Sy § fafan
Join/Disjoin compounds in bold typed words in the following sentences and
rewrite it 1x4
(i) gH: TgEn: FHY q9: HAf|
(ii) TRE ShehRE el hifehel: AT Thoed|
(iii) TEHA: F&: YA TN
(iv) for 29? steRrdH)

7. | oTNfeAfEdy STy SISErIaET USH Uahiaued fauea/agsa fafad 1x5

T forg T TRl ° FISE o ST TRl o Wehaved favsr/aEn 9 fere 'y fafau

Rewrite the following words by Joining/disjoining suffixes to the roots/words.
(i) SIfFmom (AmHSeh) SR Al

(i) (sAa + ) fadew: Twafql

(iii) fogra: T (IgeA=:) Wehifad:|

(iv) Fip: T TR (T + SR

(v) TN (3T + T + Q) TR T
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AR LAl

8. | orelfafEd o1 =] Sfem-sremaud: feaawemrt e q: foea 15x10
(SFHIMT el 318 &)
Ffafaa oigees o 3foa oo waf 9 Raawem &t gfd swer 4A: fafag
(7ol & g A= O R)
Rewrite the following sentences after filling in the blanks with suitable indeclinables.
(List of words are given below)
Y ST, ToRIerd TahT TRt STHEA (i) TRRY M Jguul
Tid ==t Fdll WA TR (i), foramon |r: e
® TRIA (IV)rrovrrerrrennn. 3R T IO |
® TR (V)rovorerereaens J&T: STRMUit: |
LIS [t (/) Skt U (V/7) TR U Seriey Saem|
o ' eAfTyguUl ARG S TIIRBTATT TAM: (Viii).....ovoeeeeee. veg' =fd Ffv=d

B

o T Y TARG: (i), Exuiel
TATERUREUE SSITRONY e fegehty fafam@ (x)......oco........ T
3T e, g, U4, 9fe:, I9Id:, WERH, |, 9, 1, 3fd

9. | renfafad Haey areERY Sfoaue: wiger am: fawa

sreiferfad Fars i o= o STER 3fed 91 ° weRe [ fod

Fill in the blanks in the following dialogue and write the answers in the answer sheet
only:

el - e AT 9ER we 1 gEd sfierfl

TE: - WAL, @ QAT (i), |

3E: - WARTER (i), T foram|

e - 3T, S § §e W=ga Fafl

ST - STV oTeRd T aq ganed g Al SfewdeRd|
REC| T R s L (1) TR Tacd Fe=afasm
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10.

11.

12,

foraneton GeMUee Ui WU 9N | shidanen fon afewafa sfa deper o 1x4

fqemerd & gemiee R q&n 1 99g fen e €1 fRad 9w B aw e |
fafe

Indicate the time for examination as shown on School's Notice Board in Sanskrit
Words.

Wd: 9.45 BT (I)errreerrrennn. TteTTehs, SYTeerr: afasaf|

s 10.00 (i), TheeRe) yfafte: STyl faawor =1

A 10.15  (iii)erererrrrereennns TN Fa-faaiol wfasAfal

TA: 10.30  (iV)eoereerecerennns e YR Afasafa aref-uemere = g afasafa
TN A FTH T FEHAHCAAToh eIt g Yoxd

frAfafad ael o o1gl o M W §&hd o qearEs foume fafay

Write numerical Sanskrit adjectives in place of figures in the following sentences.

TG TR THY 3. TLOTATEAT: T T Loverrrronrrrenne, O STrAfSTarn
SR (e SRl R 1210 T 22 1 AT ) U 11K ) P TR EISEIRRCER |
JEIRCE(

sreRfafaaaTeaT Qe gen A g foea 1x4

frrfafaa sl 1 GeNed ek ol @l gA: fafay

Correct the following sentences and re-write them in the answer sheet.

T foerer aeve-RfoRe SISy S T O 986G 19 TRER e SThH|
TN HEE: I SAfAshl: T AN A et otdfia Aran: o7
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Qusg : g

(Section D) 35 ITgm:

ufea-Taene g (Ufsd ITaeie )

Reading Comprehension

T, UER
13.| orelfafEd Tenyl, ey, AV o Ufoal UEAUIAHM ST Sy Rehrat
foraa
Frefafea e, gene qen AN S TeHRl fKd T R oh I SWYRkRl H
Read the following prose, poetry and drama passages and answer the given
guestions in the answer sheet.
&, | TR

e wd faarata 9fd T Imeieral qferg Sanfuafa S : TRmamass €9 aRibE
TR STERA-8 UM Hold: JASRAM 3Tehvd STRMf-ad: HaeaHay sThaisfE| 2
o-wifr-aRmueayfia SFIq Tad e Teaa Fggi: | T Sard-er] JoraaRe
@ AN SR hqH TooiH| snfeeaam, fh wwenfur? fou: sa=-aft qam
d:, &1 ©F: Thed 9g¥: S SoolH 39 HH TR Haien woiq) adq g T
T, eh TR 3&hHa | T 3591 S $o5 3T A=k ohAld URA: T
st syerg A1 foR ag fammm ' s fomemd wen stvma - ot faen foREeRe =,
38 Wad FgeaHd T sfal U9: 9% g fve S stren: fowuon: oen
3T - HENS! ST TATedl SEIReH, U9d o Ha S

oA

TehUa 15x2
T&h 3% § W S
Answer in one word.

| <reh fohd gohe?

I. Treh: &I HEEARAM Feol HAT:?

quiareR Il 1x2

i A § IW el
Answer in a complete sentence.

| v fohmef AT 9 SAuREq?
I. a7 formely fowoom: swe?
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TrdymTaRy 3wl

91 & AR S ey

Do as directed .
() ‘=W wrerann Fefur weq’ o ‘He' wEH U e TR
(i) ‘geon’ sfd uee wAE-ug e feen feraa
(iif) ' S’ 3 v e fagieres et e ol
(iv) ' 319y 3 ve= fouadareies 4s Trernenq feen fereml
REIME
3THYE HRERE! W 3 =)
WA B, AT = el

Tehuee S|
T& 3 H IW U

Answer in one word.
(i) ¥F: 1AM TR?
(ii) ‘TerEmen’ 3fa wufaen &: grErea?
quiareRe 3Tl
qufere H I
Answer in a complete sentence.
(i) ¥F: Higem AfE?
(ii) ¥F: Y AR I ?
TrymTaRy 3wl
91 & AR S| ey
Do as directed.
(i) ‘o= Rt wfcaq sfa oTefe gmRieh foh 95 qenel e ?
(ii) ‘7er’ gfa fopamage foh shqgue?
(iii) ST’ 3 wee fawdidrefe w8 faen forem

Yox4

Yox2

1x2

Yox4
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(3

(iv) ' 7:" 30 T wge femfu favorg fawen foreml

s
M
q'Z\ﬂlsl.

Feh: (Ufaed, Toplem) o: fFH Sadedt wedt? afg 318 Hwrevl: afé s qui:
HIgeT:? IR Fot: HIgeT:? T 3TE q SAde HAAUAv: | FId T 1’ e

Y@M JEAy sy = fafEsE)

e d: g forum? Taq & q Fapelstd &t

HTh: (foee) Fape:| 3R 3T Fa: Fapel: TRY| TeHd Fad gaH:|

LSEEE q: o el Wi w2 Fan: ST 3= g feafa |
FHAT|

FTh: IR A o SR T Yee Tl feeren everartd, <

mewﬁ|ﬁa@nmgw A aq 9t R
Tt - ' 3TId IR <q i TR ST U  SITHTIGH | ol STEehlSTH
DO Fd AR : Tl fF 7 g0 Fho=l, TR ..........

e d: WW‘WW@WWH&W
R T Al hToTe,
HERRE afs =gyl
Tohehuel A HOP,
i FIhl 7 T Toea: 1|
qoA:
THUST 3T Yox2
@ v ¥ 3w fafan

Answer in one word only.

(i) RO U ST IGH?
(ii) Th: TSedl fh wufaen gErEfa?

quiareRe STd

1x2

qui o’ H IW fod

Answer the following in one sentence.
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14,

15.

(i) rR: o o wemf<?

(i) FTR: T9 TR HAfa?

Frdoriane W Yox4
e & AER S fod

Do as directed.

() ‘whefa: Faford:’ s e uean: fo o< fosivomey?

(ii) ‘ST e Mad qa fawd’ o ‘aa’ 3fa U we ggeE?

(iii) ' IRy gl o T gumelesh us w2

(iv) ‘3fan: waf<' s e fauwddedss 98 Harn faen faeml
reNfeafaquega vraredy Sugekue: Wi q: forad 3+3
frefafaa <1 =i o el & 3Uged SS9 R 9 fafan

Complete the explanations of the following two stanzas and re-write them in the
answer sheet:

A add T, A TSl
A W Al AST e dReed|
wraref:

Sted ga@rt g = w=ehad el WA T (i), w9 it
(1) YT T hadl faemd U T (i), g Fed 9: HIAM I A

TS TR T WIS a5 |
TI1: BRY TSg, T ATl
et

SRR T 376 AUy AT TG 7 HOna| Fdl & A< 58 ()evnnrereeennes THE]
T A& A (). R G110 B | (1) TS T Sfaedfdl a3 guiae

refafaauegae sl wiaer u=: foma 1%+1%
frefafea 1 9= & st 1 W ek qA: fartan
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16.

17.

Complete and re-write the prose order renderings of the following two stanzas:

RS RMIFHISEAT TS|
AT FeRISThIe: |-ty A=Ay foramq

Y
U C AR () FOT AT TN TGN (i) - TS| Wagl W4T
(1) fferm fohama

stachdl aen fad den anfe sweg Af)
qeeg: HElHM: HHHG Ted:||

3T

e 3Fgghdl Fa U1 (i), aTfe Ao, FETHM: AL (i), T
[(11) P 3g: |

TG AU ST Jy-FmioT Fea 1x4
Taifgd Uel o MR W WA o shifsg

Frame questions based on the underlines words.

(i) TI YHTeT: TEUUH STEUTHAYRY TR
(i) STETOT: 3Y: I Swifon

(iii) M TR 8

(iv) forsa: T=IAIq aIgH. 31|
YEATGHATTARY AeNfAr@aqaran qa: sFHuT forad 15%8
SeAIRH o SUR fAfafaa arei &t gA: %9 9 fafau

Re-write the following sentences in the sequential order.

() TSTIE FHHA TSH TS TP SUER: Hi:|
(ii) TR ATCTaTEarIHyY Teh: fSgeie: 7Y: qemd gfawrd
(iif) ST, STTET @O T AT W)

. Y o . o . .
(iv) guepi: T aifed A a1 amgad: I TR TR 3T 2

(v) THE=E P g A deEta )
(vi) STerfer: ey TesHTeen: sfa foemd w9 qeemaTy Tepe
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18.

(Vi) I TEARERAHT § TR T TS|

(vii) Gueapit: STefaferaaTaa difed: A sTvaemen wias|

v 3t W Wer e
v 1 A9 o WY Held HIfST

Match the following meaning with the words :

gug: ‘I’ gug: ‘9’
()  foriae (F) T&Tmay
(i) TR (@) w|
(i) T (M) R
(v) W (¢) W=

v) A= () fom=
(viy  TEREGH (=) Il

Yo%x6
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aagtaTRauyaa ||

AR
foawa : wepaq (FEwoTeTRay )

e FIM HRITHET 122
AfY : EREEH qurigT: 100
@US : & - IMUfGq-TFAETT

A @Ue TTEgay IR (5+10)
® | - W : ITEE: 50 VEURHd: (5)
TS ELERE SRS STUfEa-3aafon AgEgA:  SARfawm:
T, o 3Tk
| qeAale - SAfeTeET: (i) @ 12
BRIk THIRT ITH, (i) P g 1/2
|
I qeate - [SEGEE (i) <, HHEET,
e quiaTeRA for=rrom, aafaron
IWH EIR B NIESE
Hifhan a1t |
(i) AU TS W
A q woierd
3fd T hivaq |
(3rd: ofh: Yeaz- 2
qheToTg 37 ofeh:
= EadId)
[l aifeha@- () TS ()  egoftn 172
reror EEERELN
(i) YU (i) TeTIARIST: 12
(iii) STEEURERY (i) q, FF, 1/2
A, A, T
EeliEcD
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(iv) IERNGIPERES (iv) it 12

|Ul| \]

F1| (3M) fgdfa: T7=s83: 80-100 VeRURMHA: (10)

IS : T I-YhR: rufara-srafor AZESA: A aYm:

| LEDCICE FAfceTeT: () TfaTh: 172
e THIA (i) e 172
(i) TdemEm 172
(iv) eAfafafestor 172

I LEREIEE foregara. () STH: SO

e (qufareRi) U YREAT
Tg qiead
ST o, He
Tarar: fassf,
BERICRET R CIC]]
BRtIGE EIET M
= 3T 1+1 |2
TR =y et

(i) s 7 fioa

Afd, 9 9 §<d
URRIG ST, gYasta
T FRIGHIRR A 1+1 |2
A Ueh: AHg;: WWW Teh: Ag: A
IS

|-l>|
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XN o9 3k
i AR -Tea- ST’ (i) Shgueaaay (i) Teehla: 12
TR0 (ii) GITHRYH  (ji) B 12
LSEIRRILS
(iii) foRUTIR =Y (iii) o 172
(iv) e Teaa ™ (v) o 12
2
IV | SftteRueEs sfdereeR: LieITeRTer 2/
TR By
SEICHIG IS IRRET]
e W
ST I
ferfoud THGTIER
Sferasfraern 2
2
E
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TFAS |
@uUg : W' - AR AETY

JTEFTHERATTTIA_ ||

5+5+10=20

ST @ve =3: yen: gl Jem yed fafed 93 wesum: faen fafs= e g en oo 3:

STYRRT oieam | TfdgsReadeergfded el a1g: fuifa:)

TS : ELARE JeT-ThR: STofara-SfoT IgHgd:  SAR{aWT:
LKA PR 3k
2 REGICE I T
Arerfrad- o Uftd 9= 1. HIfCTshTdTd Ys
qR&H M|
TrAIEH 2. TygweTam Y
TAITR 9. Ty Y
EELIISCE
T T
THEHd I 10. TTETRH Y 2
LER 2]
T W
EEGICE| H=Hh- 3. e Vs
[ELREENE [EERELSRIELY 4. IGO0 Y
SreradraroTy (Teareemyfd:) 5. IRGAHI Y
6. SiferRamaTm: Ys
7. ToERIR Vs
8. S s 3
5
3. A T¥7 TRadaR SRHidee Reaeeyid: oTufadll o Toaiadee i |f|
gfTgGRerdeh o gftehd Teh: oTg: MiRa: STEgAl: Aogud: @ UR: -
o ﬁﬂﬁ?ﬂﬂ'{ﬁ:
BRI CTgl () foud uraecemra goome
EIC2IRIURNE LY Tesfa? faemeafeTy 1
q vd: 3fassm:
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T Y9 Feeauiereg | AR ue e Seean Hosel TRaRIsS e qoaary

ST J 378 AY=sl Tl
FHAUM|

(i) Y TAHHT TR
FHeqd?

(iii) TeRmeie T SrgAEen
HIUT?

(iv) JAHHU ST
F: A2

(v) g Hq T
I ¥4 IR
3RafY yragqum
Tfeta|

i sTiferam) e sTgEe Fruiia)

FeaeTgeich Tesrafret
ATFIEET STEATTHIOR
TR 70T

BET: WA
HESHId: RTRTL
e st
A
(TedTe,
e Teh:
oTg: qemem,
Th: 3g: HM-
JATAE|

5

5x2

10
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AT (hae ATEH: )

YEaHehd Y@ aRarl 98 gaum’ 3fa fow gea-areRieran s sTdfaaH|
SFeIgeeh  ATRIHTTY EJE IR ESN e el
SFIEET- B EC CRIIE
FARTIIEO wfgsf-|

(TSR GfdeeRiy Th:

g : T,

Th: Ag:

AR 5x2

20

10
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Qgug : T

ST @Ue WTRT: SACRTRGRYANT: STdferd:
HAG LA Y-YhR: arafara-sfor ASESA: fhfaem
T4, o 3Tk
5 | aeRy wfay o wErTe: () gt 1
i Reqergfd- (i) fre+sm: 1
e orea wfy- (i) TR+ 1
LT/ H =T :
EIRCICLrCE
SR 3
6. TRy THE - EICRL| (i) STTEH 1
Tl faurs:| Enfga- (i) SFemET: WH 1
STHHETIRHT CHE (i) SE®He 1
HYY 3fd oy Ife | (&)
Tl WU HHEY (iv) ¥ &wER 1
4
7. | Ry wE/ Wepfagc () TENHSE 1
dfgaycaar RIS CT (i) ShIfeM: 1
TAR-TEUE el ae- (i) SgEEg 1
RHTEAR (iv) eTofra: 1
Reeamyfd:  (v) s 1
E
8. | ARy F- AU (i @ 12
IE-JANT- SRR (i) o= 11
Tlterur Ay 3faa- (i) TRy 12
STIITAT (iv) fE: 12
SIS (V) S9Fd: 12
(vi) T 1/2
(vii) =fa 172
(viii) @1 1/2
(ix) 3 172
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T4, AR 3tk
x) oA 172
E
9. | TR srA-TEM  Reeemy () e 1
Tierum Tuferdehg- (i) = 1
F-fopame: (i) 9 |
Rereerryfd:
3
10.| =fewi g TRy () URFRIER 1
HehaA HFEdeh: (i) SRR 1
G- R e e (i) TERETETE |
e T : (iv) wreEeEREA Rk
4
11.| YemamEs- IEH WH (i) T 12
-~ Y WEha- (i) TehT 12
e w3 Reeem- (i) e 12
gfd: (iv) ToerETer 12
2
12.| STeREEART IECREN () R 1
Ys-Tag-a=" ==y (i) ==m 1
o o TEm-  TErfga-wy (i) @i 1
e SWIfG:-|Me (iv) AFa: 1
4
30
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( ufsa-raarem )
ST @Ue W Ul TeagEIRH (HIUERT 91T : |1) HNTHaEehion S|
TG : EEepL Y-YhR: arafara-sfor ASESA: fpfaemT:
T4, AR 3Tk
13.|(31) dfodmene-  SAfderse: (i) F=HY 12
FAYTAGOH THTA ST (i) T 12
qufereRA () Teh: TS
A HENIGEIRENIER
SEHERIETSiRoTE | 1
ST
(i) TS TRref
9= dren
s7Hre: fayuo: 1
319
aTfereR —a<a- EHRIEA () SRR 12
- TeTor EESCDEE] (7 faum)
ERIRPECCRE U () 172
foRmREEAy (i) oRTRaRHTEa-
/T 1/2
foqdiaeierae. (v) IR 1/2
RERRL
RICGERINS SAfaeTs: () STAHREATM 1/2
SreradraroTy THIA (i) 3T 12
PUEIEYE () ¥ gFuRH =
IITH RIS 1
(i) T AT S 1
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T4, AR 3tk
EICNIETRIERE] 2
qfeha-aiy  HMIR-IgaaTq () gFmEy 12
RRtuE qaar=dsquesdT® (i) T 12
ERHGECECREY (iii) o 12
IENELCECREL:] (v) SFEH/eeT 12
2
B
EICHEICRINE | AT (i)  RTRME 12
STy ThHTed ITH iy TN 1/2
1
| T ()  wEC e
(JUTETeR—A 3T HoEfa- s
_fE = 1
mln
(i) FTH: 99 1
‘-1’ sE M=
ERIE R CIRIT]
iy = fafEsEf
2
aiftaeey ()  foRmoMEERE ()0 e 12
Tqiterory (i) T (i) HHEH 12
SRIECCRELY
(i) FEHMIER-TR- (i) 12
ERRES
(v) faqfiaeis-12- (v) =i 12
DL 2
E
14.|  wrenefar- () USAY W@y () 2= 1
Titerurm Rereamyfd: (i) AR 1
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T4, o 3Tk
(i) =T 1
3
(i) IY Wy () ST !
Reeamgfd: (i) T 1
(iii) s 1
3
15.| HeEneA (i) & T (i) SArASER 12
voleh ufgen (i) STERY 172
Reqearmgfd: (i) &q 12
(i) IS T (i 3 12
AU Veleh ufeen (i) a<a 12
Reearmgfd: (i) sfa 12
16.| WA EESEREL| (i) =9 301
HITTA-THA  TeraRI (i) =fa 1
YA (i) =: 1
TAFTHIOY (iv) T 1
g : ST - FaTHEd 4
FMig: I YeTaTdeh O
17.| dehqUIEeATSRA-  URd- V, 1L IV, VI 15x8
LRIEERIE] FEAM VIIL L, 1, VI
SRAMET 4
18.| wrexrefeiy-  wesEm o7 () famme 1/2
Titerurm g 3fed "oy, (i) foser 12
(iii) -eafa 12
(v) T\ 1/2
(V) T@rEH 12
(vi) ¥ FYH, 12
3
35
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